| 200 1 19\ [ o YO

0. M. R. Serial No.

Question Booklet Number

B. Sc. (Ag.) (Second Semester) EXAMINATION, July, 2022

(0ld Course)

AGRICULTURAL METEOROLOGY

Paper Code

AG|2|0|5

Time : 1:30 Hours |

Instructions to the Examinee :
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Do not open the booklet unless you are

asked to do so.
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2.

More relative humidity is

human health.

(A) useful
(B) harmful

(©)

(D) useless

important

Condensation of  water  vapour

creates :
(A)
(B)
(©)
(D)

Drop
Fog
Clouds

Frost

The World Meteorological Organization
(WMO) is situated at :

(A) New Delhi
(B) Shimla
(C) Geneva
(D) London

The Indian Meteorological Department

came into existence in :
(A)
(B)
(©)
(D)

1775

1875

1957

1975
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The average condition of weather over a

particular region is called :

(A) Climate
(B) Weather
(C) Atmosphere

(D) Environment

Day and night are result of earth’s :

(A) Revolution
(B) Rotation
(C) Radiation
(D) Gravitation

The short range weather forecast is valid

for a period of :

(A) 1-3days

(B) 3-7days

(C) 10-15days

(D) > 30days

Prolonged meteorological drought results
in:

(A) Agricultural drought

(B) Seasonal drought

(C) Hydrological drought

(D) Contingent drought
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9. T8 Wd ¥ Vel e BT, 9.  The layer in which water vapour is more,

FEadl © is known as :

(A) AU (A) Troposphere
(B) WHHATYHUSA (B) Stratosphere
© 3IHTS o (C) Ozonosphere
(D) 3ATITHISA (D) lonosphere

10. -9 9 qGAvSA b Bl AT DI 10.  Which gas constitutes about 0.03% of

TTHT 0.03% & ? total volume of atmosphere ?
. 0 f

(A) ST (A) Oxygen
(B) ETESIoH (B) Hydrogen
(C) T SrRifaTsS (C) CO,
(D) FEENM (D) Nitrogen
11, 91gAvSd &l Fe9 HU 04 @ - 11. The uppermost layer of atmosphere is :
(A) GHITYHTSA (A) Stratosphere
(B) HegHUSA (B) Mesosphere
(C) 3TITHISA (C) lonosphere
(D) EIREES (D) Thermosphere
12.  3JSAYS &I ST © 12.  The height of ozonosphere is from :
(A) 18—30 T, (A) 18-30 km
(B) 30—60 fdoH. (B) 30-60 km
(C) 60—90 fd. (C) 60-90 km
(D) 90 fHHl. 9 arfd® (D) Above 90 km
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13, qYAUSA B HH-AF A @Y TS @it 13, Which gas of atmosphere has major role

4 T YT § ?

in global warming ?

(A) SIS (A) Ozone

(B) HieH (B) Methane

(C) T SRiTHTES (C) Carbon dioxide
(D) 3¢9 3AfaTSe (D) Nitrous oxide

14. UHGAN U9 dTel WA b Ao arell 14. The line joining the places having equal

I e ¥ temperature is called ............... .
(A) 3EHrRM (A) Isotherms

(B) JTgHIER (B) Isobars

(C) Jrg¥lElge (C) Isohyets

(D) ST (D) Isonephs

15. eVavSe ¥ dI9a &) AE N X B 15. In troposphere the value of normal lapse

rate of temperature is :

9 8

(A) 45°C (A) 45°C
(B) 6.5°C (B) 6.5°C
(C) 85°C (C) 85°C
(D) 12.5°C (D) 12.5°C
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16.

17.

18.

19.

The unit of atmospheric pressure is :
(A) grain

(B) km/hour

(®)
(D) knot

millibar

The

atmospheric pressure is called :

instrument recording continuous

(A) Thermograph
(B) Barograph
(C) Hydrograph
(D) Hygrograph

The wind blowing from subtropical high

to sub-polar low is known as :

(A) Westerlies
(B) Anticyclones
(C) Local winds

(D) Trade winds

The Indian Institute of Tropical

Meteorology (IITM) is situated at :

(A) Pune

(B) New Delhi
(©)

(D)

Mumbai

Hyderabad
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20. ¥CCrni & 9 FHaor U T 20. Stratopause is the transition zone

between .................
(A) GHYSH TUT FAAIIHIS (A) Troposphere and Strotosphere
(B) JMATHISS T 3MITAYS (B) Ozonosphere and lonosphere
(C) GHAAYHTSA dAT HEJHUS A (C) Stratosphere and Mesosphere
(D) HEIHUSH AT GIRGIRR (D) Mesosphere and Thermosphere

21. 9N @ fea-gfafes o “ifds emawern 21. The day to day physical state of

HEaT atmosphere is called :
(A) Sy (A) Climate

(B) HrH (B) Weather

(C) YeH-Vlcldry (C) Micro-climate
(D) Sl9-Sedary (D) Bio-climate

22 ?ﬂﬂmﬂﬁ B YA e & forw 22. The altimeter used to measure ............. .

(A) TYHISHT B9 (A) Atmospheric pressure
(B) S (B) Height
(C) a1y TUT IYATESANI &9 (C) Height and Atmospheric pressure
(D) d9Y GRI (D) Wind speed
23. el 3R | & 419 &l 3 W @ 23. The average distance between earth and
sun is :
(A) 9.30 g Hid (A) 9.30 lakh miles
(B) 9.13 o Hidl (B) 9.13 lakh miles
(C) 945 &g Hid (C) 9.45 lakh miles
(D) 957 o Hidl (D) 9.57 lakh miles
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26.

217.

qrg B e A 9Tel I ©
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24,

25.

26.

217.

The instrument measuring wind direction
IS :

(A) Anemometer

(B) Wind vane

(C) Aneroid barometer

(D) None of the above

Pressure at centre of cyclone is :
(A) Low

(B) High

(C) Neutral

(D) None of the above

The distance between the earth and sun is

nearest at :
(A) Aphelion
(B) Perihelion

(C) Solstice

(D) Equinox

Precipitation in term of rain and snow :

(A) Rainfall
(B) Snowfall
(C) Sleetfall

(D) Hailfall
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30.
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28.

29.

30.

The line joining the places having equal

rainfall is known as :

(A) Isotherms

(B) Isobars

(C) Isonephs

(D) Isohyets

The diameter of drizzle drop is :

(A) <0.5mm

(B) 0.5-4.0 mm

(C) 5.0mm

(D) >7.00mm

The natural source of water is :

(A) Rainfall

(B) Snowfall

(C) Sleetfall

(D) All of the above
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3. UARI @ fAROT FT ORI 31. The wavelength of the rays of light is

mEE AT e micron.
(A) 0.1-04 (A) 0.1-0.4
(B) 04-07 (B) 0.4-0.7
(C) 07-14 (C) 0.7-1.4
(D) 14—19 (D) 1.4-19

32. IR & URW & A fafdy g 32. The normal date of onset of monsoon

is

(A) ST DI UYH AdilE (A) 1st week of June
(B) I &I fgcird qwig (B) 2nd week of June
(C) S @ i AwiIs (C) 3rd week of June
(D) SIS BT YUH HWiE (D) 1st week of July

33. HOc @ Y& & forv wem ufeat o1 Suglm 33, Shelterbelts are used to protect crop

e o frar o & 7 against :

(A) S Iy T (A) High wind velocity
(B) = W™ (B) Low temperature

(C) = dmuHH (C) High temperature

(D) ST AU AT (D) High relative humidity

34. 8 IYHU Ol WrAfdd g TR fafdwor 34. The instrument measuring reflected short

DI HUAT & wave radiation is :
(A) WTEHAIR (A) Psychrometer
(B) TcdISHMIey (B) Albedometer
(C) URRAMICR (C) Pyranometer
(D) URIEIerAMIeR (D) Pyreheliometer
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35. I Pl A B 35. The speed of light is :

(A) 2 IRg fH. gfy dave (A) 2 lakhs km per second
(B) 3 g fHHl Ul Have (B) 3 lakhs km per second
(C) 4 Ig B ol wave (C) 4 lakhs km per second
(D) 5 g f&A Ul Hepve (D) 5 lakhs km per second

36. fhdl WM W Saaq g ~AqH TTIHA 36. The difference between the maximum

1 AR T and minimum temperature at a place is

called :
(A) dMHR (A) Range of temperature
(B) <f® amR (B) Daily range of temperature
(C) wIRNI® TR (C) Monthly range of temperature
(D) CULEZRSIRIRSE (D) Yearly range of temperature

37. YAl @I | ¥ Wgfdd Bl G ol 37. Total solar energy reflected by earth’s

T BT § surface is about :

(A) 26% (A) 26%

(C) 4% C) 4%

(D) 36% (D) 36%

38. Ul g Afd e W -t g@l 38, The earth is horizontally tilted on axis at

WA e .

(A) 63.5° (A) 63.5°

(B) 66.5° (B) 66.5°

(C) 67.50 (C) 67.50

(D) 68.5° (D) 68.5°
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39.

40.

41.
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39.

40.

41.

The instrument measuring direct solar

radiation from sun is :

(A) Pyrheliometer

(B) Campbell stroke sunshine recorder

(C) Albedometer

(D) None of the above

The atmospheric moisture is measured

by :

(A) Evaporimeter

(B) Hydrometer

(C) Hygrometer

(D) Thermometer

Atmospheric pressure is calculated in

................... units
(A) cm

(B) inch

(C) millibar

(D) All of the above
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42.

43.

44,

45.

AG-205

(A) -100°C
(B) -120°C
(C) -130°C
(D) -140°C

Al | S @ 97 Bl T B B (oY
fep fafer @7 SUdRT e Wmerm & °

(A) a e

(B) =K fafy

(C) @< Hie fafer

(D) IRFA faf

T AqREA  Adad b UBR @
3qYTa § B B 7

(A) R g8

(B) U 3ugra

(C) SUYYKH YT
(D) 3G ot 981

anfoad ATggio WA
IR Sl B |

(A) 90—200 fope,

B S W

(B) 125-700 fehH.
(C) 700—1100 T,

(D) 1100—10000 .
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42.

43.

44,

45.

Freezing point of alcohol is :

(A) -100°C
(B) -120°C
(C) -130°C
(D) -140°C

Which method is used to find the velocity

of water in rivers ?

(A) Float method

(B) Weir method

(C) Current meter method

(D) Rational method

Soil erosion in maximum occurs in which
type of runoff ?

(A) Stream flow

(B) Surface runoff

(C) Subsurface runoff

(D) Underground water flow

Molecular nitrogen layer is found at the
height of ................ .

(A) 90-200 km

(B) 125-700 km

(C) 700-1100 km

(D) 1100-10000 km
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46. fhg aquv@?«ﬁa Wd o WY YS9 Far 46. Which atmospheric layer is called region

ST & 7 of mixing ?
(A) AU (A) Troposphere
(B) GHATYHUSA (B) Stratosphere
© CINIBEIET (C) Ozonosphere
(D) HegHUSH (D) Mesosphere
47. ITTHAYSA D R qIgHvS ] | 47. lonosphere layer is found in atmosphere
ﬁr@‘ ™ tﬂ's‘ T T at the height of ............... .
(A) 30—60 . (A) 30-60 km
(B) 60—500 . (B) 60-500 km
(C) 60-90 f&. (C) 60-90 km
(D) 500—1100 fope. (D) 500-1100 km

48.  IISHI 3N & AR WRd H fde By 48. According to Planning Commission how

STerarg &5 § ? many agro-climatic zones are in India ?
(A) 9 (A) 9
®) 15 (B) 15
©) 18 ©) 18
0 21 D) 21

AG-205 (15) Set-A



49. ERU HIERT b I

g

(A) 330—100 HIc?

(B) 530—330 HIc¥

(©)

(D)

1100-530 HIcX

1100 WX I AfH

eIl

50. TSR] BT GHIfAd bR dTel PR T

(A) T P o

(B)

qrgHYscl Pl dTYHT

(C) afme

(D) <l (A) 3R (B)

51. dIgAvSd ORI A

B B |

(A)

(B)

(©)

(D)

AG-205

16 PRIS 1 /APl

1.3 XIS ¢ /Hhvs

11 IS T/ HHUS

16 PRIS ¢ /HDhUs

olefdTy UTed

(16)

49.

50.

51.

The moderate fog has visibility

10 (o IR :

(A) 330-100 metres

(B) 530-330 metres

(C) 1100-530 metres

(D) <1100 metres

Factors affecting the evaporation is :

(A) Force of the wind

(B) Temperature of the atmosphere

(C)  Humidity

(D) Both (A) and (B)

Atmosphere receives water vapour from

the surface of the earth is about ..........

(A) 1.6 crores tons/second

(B) 1.3 crores tons/second

(C) 1.1 crores tons/second

(D) 16 crores tons/second
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52. eRIAd & 4" dNT fafxor gRT AR St

(A)  34%
(B) 36%
(C) 39%

(D) 42%

53 I @ D= B AUAM [ Bl
g ?
(A) 6000°C
(B) 115 &g °C
(C) 165 @F °C

(D) 195 G °C

54, Il Iea U4 HeG e H piY @
forg fae SuaRft 2

(A) ThaA
(B) WdTEM®
(C) T

(D) ST W

AG-205 (17)

52.

53.

54.

The surface receives ................ part of the

solar energy from the long wave

radiation.
(A) 34%
(B) 36%
(C) 39%

(D) 42%

How much temperature is in the centre of

the sun ?

(A) 6000°C

(B) 115 lakh°C

(C) 165 lakh°C

(D) 195 lakh°C

................ rainfall is most

for agriculture in high and

latitudes.

(A) Cyclonic

(B) Conventional

(C) Orographic

(D) All of the above

suitable

middle
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BT B |

(A)

(B)

(©)

(D)

56. WRd H Ifdaw Iu

(A)

(B)

(©)

(D)

57. 3T

g7
(A)
(B)
(©)

(D)
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55.

56.

In hailfall the diameter of hail varies

from .............. .

(A) 1-5mm

(B) 5-10 mm
(C) 5-50 mm

(D) 20-50 mm

In India maximum rainfall occurs

through :

(A) South-West monsoon

(B) North-East monsoon

(C) South-East monsoon

(D) Western turbulence

Which one is a non-recording
raingauge ?
(A) Weighting bucket raingauge

(B)

Symones rainguage
(C) Tipping bucket rainguage

(D) Float type rainguage

Set-A



58. dIgAvSd H 28 fHHL @ SAe W 9 YR 58.  Atan altitude of 28 km in the atmsophere

BT %A R Seary 0 e % of the air mass is in feet.
(A) 80 (A) 80
(B) 87 (B) 87
(C) 95 (C) 95
(D) 97 (D) 97

59. YdR Jod IR W Iuggdlg T argETE 59. Winds moving from polar high

Y 3R o A uaEt @ Fe pressure to subpolar low pressure are
_ called ............... :

g

(A) UG U (A)  Westerlies

(B) AT Uar (B) Monsoonic winds

(C) Ydr U (C) Polar winds

(D) WIFN ga+ (D) Local winds

60. fova #ArgH fas feaw w=mar oG 60. The World Meteorological Day s

g : celebrated on :

(A) 20 W1 P (A) 20th March
(B) 21 Wi @I (B) 21st March
(C) 22 W/ @I (C) 22nd March
(D) 23 W/ @I (D) 23rd March

AG-205 (19) Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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